Al ol & A B MM
20188 = 20l& FET+ENLSEI
Z: 500 BX3
2t 510 = UEXSS
g: 511 2 DNEX2S (Etel &)
g-2-g-5 Ol & 4 & E = Off A Y Hns
e Al 2,896,438 2,435,965 460,473
500 2 X3 2,756,367 2,372,894 383,473
510 212X238 2,756,367 2,372,894 383,473
511 2D1BX3S 2,756,367 2,372,894 383,473
511-03 713 2,756,367 2,372,894 383,473
<FMBHD > 2,756,367 2,372,894 383,473
O gazdazasA2ellls 2,025,753
- FUXEAY 1,637,056,000 1,637,056
— FUXNAAY Ot & 0BNE 29,604,000 29,604
— dEzeXg 2e 244,800,000 244,800
- HAFXY OtSotxE Rl 74,293,000 74,293
- sz 40,000,000 40,000
O gazdazasA2ellls 730,614
- RAURY s0E OtSot=E Z| 103,431,000 103,431
— ot BTLEU=E 303,398,000 303,398
— 9H s0E 0tSotaT H 38,675,000 38,675
— poe otaHeld AX(HE) 285,110,000 285,110
700 EMSAS AT A 140,071 61,071 79,000
720 LHS D1 el 140,071 40,431 99,640
721 Y3 140,071 40,431 99,640
721-03 JIEtSI H AL B 140,071 40,431 99,640
<AMBHD > 140,071 40,431 99,640
O da8XY st=Held A zell 40,071,000 40,071
O ¥&d =X SEXNSANY 100,000,000 100,000
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